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Biotechnology/A

L. Which is the longest phase of cell cyele 7

(A) Mitotic phase (B) Cytokinesis
(C) Sphase . (D) Interphase
2. TPR id defined 23 J
(A} Important Property Rights (B) Inteilectual Property Rights
{C) Indian Patent Rights {D) Intellectoal Provisional Rights

3, Which of the following is an Archacbacteria?

(A) Methanogens (B) Cyanobactena
(C} Hehoobacter () Protecbacteria

4. Enzyme osed in Polymerase Chain resction is
(A} DNAPol I (B) Ligase
(€} Taq Polymerase (D) HindI

3. Aneuploidy refers to
(A} Losseofapanofachromosome
(B) Gain ofa part of chromosome
(C) Presence ofan abnormal number of chromosomes
(D) Both(A)and (B)

6. The upiake of aked DNA by the bacteria is called .
{A) Electrophoresis (B) Trarefomnation
{C) Conjugaticn (1) Recombination

7. Netyield of ATP: in complete oxidation of ome molecule of glucosc is

. (A) 38 (B) 32
©) 33 @ 12
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8. Study of interaction among organism and their environment is called :
(A) Synecology (B) Ecology
(C)  Autecology (D) Daversity

9, A test eross is earried between sn individual with a phenotypically recessive individusl te
determine its Ty gosity, will have phenoiypic ratio
(A) 3 By 34
() 1] () 1:d

1%, Which antibady is responsible for response during allergic and hypersensitive reaction 7
(A) IeM (B) IgE
{C) IgG D} A

11. In=znexperiment you bave te use two reduelng sugars which of the following combination
yoia will choose 7
{A) Lactose and Maltose {B} Trehalose and Sucrose
{C) Maltose and Trchalose (D) Laciose and Sucrose

i2. Theenzyme that catalyses the reduction of nitregen to ammonia is .
(A) Nitrogenase {B) Nitrate reductase
(C) Nitrite reductase {D} Deaminase

13. Restriction Enzyme which recognizes the same sequence are celied :
{A) Neoisochizomer B} Tochizomer
() Bocaodomer (I} Neocaudomer

14, Choost the right combination:
Stop codon - Start codon
(A) AUGTUIOA/AGA ALIG
(B) AAGTUAAAGU GAG
(C) UAATTAGUGA AUG
) UAATTAGUGA DAL
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18,

19.

20.

21,

. Which is not an auto immune disease?
(A) Grave's disease (B} Hashimoto disease
(C) Herpesdisease (D} Mynsthenia gravis

Ispeleetric focusing separate molecules by their 2
(A) Conductivity (B) Molecular size
(C) Positive or negative charge (D) Isoelectric point

First stable product in C3 plant is .

(A} 3-phosphoglycerase (B) 3-phosphoglycolate
{C) Oxaloasemmts (D} Phosphoenol pyruvate

What are the basic building blocks of cellulose and what type of linkage they have ?

(A} Glucose [ 1-4 (B) Maltose o 1-4
{C) Glucosca 1-4 {1} Maltosep 1-4

Which of the following is not a fat soluble vitamin ?

(A) D B B
€y E ) A

Apart [rom protein which molecule can act as an eneyme 7
(A} RNA (B) DNA
(C}) Carbohydrate (D) Lipids

The only antibody capable of crossing the placents in humans is
(A) lgA (B) IgM
(C) lgG (D) IgE
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22. Which of the following is not present in the enkaryotic cell ?

{A) Microsome
(C) Centrosome

23, The most abundant protein in nature :

(A) Collagen
(C) RUBISCO

(B) Mesosome

(D) Glycosome

(B) Chlorophyl
(D) Haemoglobin

24. A Single mENA molecule that codes for more than one protein

{A) Cistronic mENA
(C) Polvoistronic mRNA

(B) Intronic mRNA
(D) Both(B)and (C)

25, Allosteric enzymes functions through F .
(A) Reversible noncovalent binding of aregulatory metabolite
(B) lrreversible noncovalent binding of a regulatory metabolite
{C} Reversible covalent binding of a regulatory metabolite
(M) Irreversible covalent binding of a regulatory metabolile

26, Which of the following enzyme complex converis pyruvate obtained from the glucose
breakdown into the acetyl Co-A to enter the citric acid cycle ?

(A) Cytochrome ¢ oxidase
{C) Pyruvate dehydrogenase

(B) NADH-(} oxidoreductase
(D) Pyruvate oxidase

27. Which microbiologist disproved the doctrine of spontancous generation ?

(A) Francesco Redi
(C) Elie Meschnikoft

28. Which of the following is not a vector ?

(A) pSC101
(C) EcoRl

Biatechnobogy/BIL-866-4

(B) Robert Koch
(D) Louis Pasteur

(B) PAC
(D) Lambda phage
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29, Glycolysis results in the production of two pyruvate molecules, before entering into the citric

a1,

31,

32,

M.

acid cvele this pyruvate are transported into which cell organelle ?
(A) Endoplasmic Retioalam (B) Golgi body
(€) Lysosome (D) Mitochondria

Which of the following ks an example of negative interaction 7

(A) Epiphyte growing on some woody plant (B) Rhizobacterium and leguminous plant
(C) Antibiosis (D) Lichen

The five different clusses of antibodies are defined on the basis of
{A} Structure of constant region of the heavy chain

(B} Structure of variable region of the heavy chain

{C) Strueture of constant region of the light chain

(D) Structure of variable region of the light chain

Oyperon has :

{A) A group ofclosely linked stroctural penes regulated by the same operator
(B) Single promoter for all structural genes

(C} Produces polycistronic mRNA

(13 All of the sbove

The repetitive stretches of DNA located ut the ends of linear chromosomes

{A) Kinetochore {B) Acromers
(C) Telomen: (D) Centromere
First genctically modified plant was :

(A) Anantibiotic resistant tobaceo plant

(B) Flavr Save tomato which has longer shelf life
{C) Btestton

{13} Bttobacco plant
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35. Considering meiosis which of the following is true statement ?
{A) Recombination occursin Prophase |
(B} Meinsis | is called the eguational division and meiosis Il is the reductional division
(C) Creates germcells only
(D) Both (A)and {C)
36. Plant tissue cultore is possible becanse :
{A) Plantcells exhibit plasticity (B) Plant cellsexhibif tolipotency
() Plantcells have higher regeneration power {13} Allofthe above
37. Each chromosome is made up of :
(A) Tightly coiled DNA many times around proteins called histones
{B) Condensation of chromating
() DNAonly
(1) Both{A)and (B)
38. Match the column :
A Lysosome 1 Makes lipid, breakdouwn drugs and pack proteins
B. Golgi Body 2. Powerhouse of the cell
. Mitochondria 3. Digest food particle and foreign invaders
D). Endoplasmic Reficulum 4. Processes and transport proteins out of the cell
(A} A-3/B-3/C-2T-1 B} A-1/B-2/C-3/D4
(C) A-2B-3/C-4/D-1 (D) A-3B-4C2M-1
39, Which of the following is defined as the law of independent assortment ?
(A} Allele pairs scparate independent of cach other during the formation of gametes. Henee traits are
tranamitted to offsprng independently of one another,
¢B) Dhiring the production of gametes the allele of each hereditary factor seyregate sothat offspring
aequire one factor from each parent.
{C) Ome factor in a pair of traits dominates the other inheritance unless both factors in the pair are
recessive.
(D} Allofthe above
RistechnotopyBIL-B66-A fE*"}
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The phenomenon in which s single gene affects a number of phenotypic traits in the same
organism is known as

{A) Polytropism (B) Co-dominance
{C) Pleitropism (D) Imprinting
41, Hacmoglobin is an example of protein.
(A) Storage (H) Protective
{C) Regulatory (D) Transport
41. Subunits of prokaryotic and eukaryotic ribosomes are :
(A} 605, 405 and 508, 308 respectively
(B) 508,408 and 608, 308 respectively
() 508, 308 and 608, 405 respectively
(I} 608, 308 and 508, 408 respectively
43. 1Inbacterial conjugation F plasmid is cafled ;
(A) Fertility factor (B) Female factor
(C) Facilitating factor (D) Functional factor
44. Activated Sludge process i :
(A) Aemhic {B) Anacrobic
(C) Torae {l¥} Nonlonic
45. Bioremediation is :
{A) Useof plants for the degradation of pallutant
(B) Useof microorganisms for the degradation of pollufant
(€) Baoth{A)and (B)
(T3} Useolchemicals for the degradation of pollutant
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46. pUC stands for :
(A) Plasmid Universal Coding
() Plasmd University of Cambridge

(B) Plasmid University of California
(D) Plasmid Unknown Coding

47. Which of the following is not a Green House Gax ?

(A) Methane (B) Carbon dioxide

(€] Argon {1y Carbon Monoxide
48. First amino acid incorporated to make protein chain during translation ks :

(A) Lysine (B) Arginine

(C) Methionine (D) Valine

49, Na'/K' pump in g cell helps in transportation scross the membrane by :
(A) Passive Transport (B) Active Transpon

(C) Facilitated Diffusion (D) Osmeosis

50, What do you mean by degeneracy of genetic code 7
(A) One amino acid can be coded by more than one codon
(B} Omnecoden can code for more than one amine acid
{C) Gene sequence degenerate with time
(D) Genetic code vanes with the cell type

If protein of interest forms 10% of total protein present in crude enzyme, how many

Si.
maximum folds of it ean be purified?
(A) S0 (B) 10
(C) 100 (o 0

52. Specific activity is :
(A) enceyme per milligram of total protein
(C) erryme per nanogram of total protein

{B) enzyme per microgram of lolal protein
(12} enzyme per milliliter of total protein
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53. ELISA is defined as :
(A) Proyme Linked Immuno Soluble Assay () Enzyme Linked Imimumo Sorbent Assay
(C) Enzyme Linked Instant Soluble Assay (D) Enzyme Linked Invmuno Sandwich Assay
54. Which of the following arc the essential components of the plasmid vector ?
{A) Onginofreplication (B) Multiple Cloning Site
{C) Antibiotic resistant gene (D) Alloftheabove
53, The light reaction of photosynthesis :
(A) Ocecurs i the stroma of chloroplast () Invoives only photosystem I
{C) Produce ATPand NADH (1) Also called Calvin Benson Cycle
56, Stem cells are :
{A) Present only in embryo (B) The cells which are differentiated
(C) Candevelop into any kind of cell (D) Examplesare nerve cell, muscle eell, RBC
57. Which of the following statements are irue regarding PS{Photosystem) 11 7
(A) InPSH, Photocenter is p680
(B) Participates only innon cyelic photophosphorylation
() Located ai the inner surface of thylakoid membrane
() All of the abave
58. Hybridoma is used for :
(A) Hybridization (B) Ceneamplification
(C) Monoclonal antibody production (D) DNA segments separation
59, Moaostly used soil bacteria in plant biotechnology for transformation is :
(A) Bactilus thuringiensis (B) Agrobacterium tumefaciens
(C) Rhizobactertum (M) Escherichia coli
60. Enzyme used for stitching two fragments of DINA is :
(A} Alkaline phosphatase (B) DINA ligase
(C) DNA topoisomerase (D) DNA gyrase
Biotechnology/BIL-866-A i [Tum oves




